Basic Mathematics Quiz 031 (Simplification)

1. Simplify

2.

1+1+{1+1+[1—1J} =7
3

A) 7/5
B) 2/3
Q) 4/5

D) None of these

3.

4S+12><[E +:rf‘i+i GFEJ =7?
§ 3 4 3

A) 9

B) 12

Q) 15

D) None of these

4. Simplify:
2+2+2+{2+2+2+2+3)
A) 13/15
B) 17/15
Q) 11/15

D) None of these

5. Simplify

0.8x08=x08-05x05x0.5
08=x0.84+08=x054+05x05

A) 038
B) 0.4



G 03
D) 0.13

6. Simplify
1-2-{5-(-3-2)}]
A) 1
B) 2
C 3
D) 4

7.

69842 % 69842 3015830158 _
69842 —30158

?

A) 100000
B) 69842
C) 39684
D) 30158

8. Simplify

A) -(1/2)
B) - (1/8)
QO -(1/6)
D) - (1/4)

9. Evaluate

0.53x0.53-2x053x041+0.41x0.41

0.53x041
A) 0.16
B) 0.8
Q) 0.12

D) None of these



10. Evaluate
02 w18
—

|

A) 2/3

B) 4/9

C) 16/81
D) 32/243



Answer Keys

Question Answer
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6 A
7 A
8 D
9 C
10 C



